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BéiI.Chohaibiéuthfrc:M:(l— X j:(x+3+x+2+ 2X+2 j (X#-Lx#2;x#3)
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a) Rut gon M b) Timx d¢ M <0 ¢) Tim x nguyén dé M nhén gia tri nguyén
Bai Il.

1) Giai phuong trinh:

a)7-3x =9-X b) X X 6x’ c) |[2x+5/=7x+4

3x—2 3x+2 9x*-4
2) Giai cc bat phuong trinh sau va biéu dién tap nghiém trén truc so:

a) 2x(x+1) - X(2x+5) =12 py XF3_3-Xx_2x=3
5 3 2
Bai 1. Gidi bai todn bang cdch ldp phwong trinh:
Mot 6 to dy dinh chay tir A dén B trong mot thoi gian nhat dinh. Biét quang duong AB dai
120km. Trong nira quing dudng dau , do duong xau nén xe chay véi van toc it hon vén toc du

dinh 1a 4km/h. Trén quang duong con lai do duong t6t nén xe chay voi van toc nhiéu hon vén toc
du dinh 13 Skm/h va di dén B dung gid. Tinh thoi gian dy dinh di hét quang duong AB ?

Bai IV. Cho tam giac ABC vudng tai A. Ké duong cao AH

a) Ching minh tam gidc AHB dong dang tam giac CHA

b) Ké duong phan giac AD cua tam giac CHA va duong phan giac BK cua tam giac ABC
(DeBC, KeAC). BK cat AH va AD lan luot tai E va F. Chting minh EH. EA = EF. EB

c¢) Ching minh KD // AH

d) Chung minh EH = KD

AB BC
Bai V. Mot bé ca dang hinh hop chir nhat Py TR IR R
lam bang kinh ( khéng c6 nip) c6 chiéu dai 80cm, chiéu rong /

50cm, chiéu cao 45cm. Muyc nuée ban du trong bé cao 35cm.
a) Tinh dién tich kinh dung dé 1am bé c4 do.

b) Ngudi ta cho vao bé mot hon da cé thé tich 10dm?.
Hoéi myc nude trong bé lic ndy cao bao nhiéu xing — ti-mét?
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Phan 1: Cho ciu tho sau:

“Khi con tu hii goi bay”’
( Trich Ngit van 8, tdp hai, NXB Giao duc Viét
, , Nam) 7
Cau 1: Chép tiep 5 cau tho tiép theo d€ hoan thién kho tho?
Céu 2: Doan tho trén trich trong bai tho nao? Ai la tdc gid? Néu hoan canh sang tac cua
bai tho d6? q
Cau 3: Néu ndi dung va phuong thirc bicu dat cia doan tho?
Céau 4. Burc tranh mua he dugc tac gia mi€u ta trén nhimg phuong dién nao?
Cau 5: Déu ba cham cu6i kho tho c6 tac dung gi? ‘
Cau 6: Viét mot doan van theo quy nap khoang 10 cau trinh bay cam nhéan ctia em vé
doan tho trén. Poan van c6 sir dung mot cau cam than( gach chan, chi ro).
Phan 2: Poc doan tho sau va tra loi cau héi
Nay xa cach long t6i luén tudng nho
Mau nudc xanh, ca bac, chiéc budm voi
Thoang con thuyén ré song chay ra khoi
T6i thdy nhé cai mi ndng man qua”
( Qué hwong - Té Hanh)
Cau 1: Tim va néu tac dung ctia mot bién phap tu tir trong khé tho.
Cau 2. Kho tho thé hién ndi nhé da diét cua Té Hanh vé qué huong ctia minh. Dya vao
kho tho trén va bang hiéu biét x& hoi, em hay viét doan van nghi luan khoang 15 cau voi dé
tai: Tinh yéu qué huong.

BAI TAP ON TAP TIENG ANH 8



TUAN 7
I. Choose the word which has a different stress pattern from the others

1. A. proposal B. television C. impossible D. unhealthy
2. A. zoology B. reality C. sensitive D. photography
I1. Choose the word that has the underlined part is pronounced differently
3. A.talked B. watched C. lived D. stopped
4. A. honor B. hedge C. exhaust D. honest
I11. Read the passage and choose the best answer

An earthquake is a shaking movement of the ground, (5) by the slippage or
rupture of a fault within the Earth's crust. Every year more than 3 million earthquakes take place,
most of these unnoticed by humans. By (6) , a severe earthquake is the most
frightening and can occur anywhere on the surface of our planet! (7) usually lasting

only seconds, a severe earthquake in a densely populated area may have effects causing the (8)
of hundreds of people, injuries, destruction and enormous damage to the economies
of the affected areas.

A lot of people have been killed (9) earthquakes although scientists (10)
able to predict and forewarn in advance and engineers construct earthquake-safe
buildings. (11) , earthquakes often occur in countries which are unable to afford
earthquake-safe construction.
5. A. cause B. caused C. causing D. to cause
6. A. contrary B. contrasting C. contrastive D. contrast
7. A. Despite B. Because C. However D. Due to
8. A. die B. dead C. death D. died
9. A. about B. by C. of D. for
10. A. are B. can C. may D. be
11. A. Fortunate B. Fortunately C. Unfortunate D. Unfortunately
IVV. Choose the best answer
12. pollution causes breathing problems.
A. Noise B. Soil C. Water D. Air
13. is a way of verbal communication.
A. Dancing B. Meeting F2F C. Using signs D. Using body
language
14. Alexander Graham Bell invented the .
A. light bulb B. penicillin C. internet D. telephone
15. The largest cattle station in the world is in :
A. The USA B. Australia C. Austria D. England
16. Steven Hawking is one of the greatest in 20th century.
A. inventors B. chemists C. physicists D. explorers

17. Thermal pollution means a change in the temperature.



A. air B. water C. soil D. sun
18. 1 would rather than .
A. walk-cycle B. to walk-cycling C. to walk-cycle D. walking-cycling sorry.

19. You need sorry.

A. to say B. saying C. be said D. said
20. They their homework before they went to the cinema.

A. finish B. had finished C. finishing D. has finished
21. You to obey your parents.

A. should B. must C. have D. has

V. Find out the mistakes
22. The train leaving at 4.30 this afternoon.

A B C D
23. Your bike has been repair for 2 hours.
A B C D
24. At 8 A.M tomorrow, John will having an important meeting with his partners.
A B C D
25. You can try to wear some clothes before buying them.
A B C D

V1. Read the passage and choose the correct answer
Active Passive Smoking

Psychologist George Spilich at Washington College in Chestertown, Maryland, decided to find
out whether, as many smokers say, smoking helps them to think and concentrate.

He put non-smokers, active smokers and smokers deprived of cigarettes through a series of
tests. In the first test, each subject sat before a computer screen and pressed a key as soon as he or
she recognized a target letter. In this simple test, smokers, deprived smokers and non-smokers
performed equally well. The next test was more complex. Non-smokers were faster, but under the
stimulation of nicotine, active smokers were faster than deprived smokers. In the third test of
short-term memory, non-smokers made the fewest errors, but deprived smokers committed fewer
errors than active smokers. In the fourth test, non-smokers were the best and deprived smokers
bested those who had smoked a cigarette just before testing. As the tests became more complex,
non-smokers performed better than smokers by wider and wider margins.

26. It is pointed out in the passage that the purpose of George Spilich's experiments is

A. to test whether smoking has a positive effect on the mental capacity of smokers
B. to show how smoking damages people's mental capacity
C. to prove that smoking affects people's regular performance
D. to show that non-smokers are less productive at work than smokers
27. In the second test, active smokers were faster than deprived ones because
A. they concentrated more B. they were stronger



C. they used the computer better D. they had nicotine as the stimulation
28. We understand from the passage that

A. active smokers in general performed better than deprived smokers

B. active smokers responded more quickly than the other subjects in all tests

C. the other subjects were not better than nonsmokers in the simplest test

D. deprived smokers gave the slowest responses to the various tasks
29. George Spilich's experiment was conducted in such a way as to

A. check the effectiveness of nicotine on nonsmokers

B. put the subjects through increasingly complex tests

C. finish the tests as quickly as possible

D. force the subjects to recall the words they learned
30. The word “bested” is closest in meaning to :

A. succeeded B. defeated C. won D. passed
VII. Rewrite the sentences as directed
31. He is writing the letter now. (Passive voice)

VIII. Rewrite the sentences beginning with the words given
36. He left his office. Then, he went home.

38. “Is the Great Wall in China?” she asked me.

She askedme ...

39. We turn on the air conditioner all the time. We have to pay three million dong for electricity a
month.

40. This is the first time we have visited this place.
We haven’t



